FAM: SO0IXIREH
FH: Hd=A s
el OA AZIEO S

H £ 0l & AF & S

Al A

SA B SABH) - KIRAY - BLS o ar o) 3 o HDS2
SO A MIE 10,115,692 9,401,275 714,417
= 2,990,942 2,724,865 266,077
[ 282,159 283,102 2943
Il 457,597 457,597 0
CH 440,000 440,000 0
s 1,814,545 1,742,839 71,706
o 4,130,449 3,752,872 377,577
Hdg=X S8 1,838,194 1,836,335 1,859
= 419,897 405,509 14,388
[ 111,790 113,806 22,016
Il 457,597 457,597 0
& 218,820 226,016 AT, 196
Ea 630,090 633,407 A3,317
He AtelE0 58 229,369 248,065 18,696
s 111,790 113,806 A2,016
= 51,527 59,957 A8,430
s 66,052 74,302 A8,250
Agu=ssd T2 08 A 46,784 48,800 2,016
= 46,784 48,800 N2,016
101 2124H| 1,520 0 1,520
[ 1,520 0 1,520
03 SR (RINHA) 222+ 1,520 0 1,520
OXNgusS: T2 AN SYal
1,520,000 14| 1,520 0 1,520
= 1,520 0 1,520
201 2Bt ] 15,589 28,425 A12,836
s 15,589 28,425 N12,836
01 AtR2te|HI 15,589 28,425 12,836
OXYuEEH 24|
43 15,580,000 14 15,589 28,425 A12,836
[ 16,589 28,425 A 12,836
301 LEetE2 N = 29,300 20,000 9,300
[ 29,300 20,000 9,300
11 dALEEIXIZE S 0 3,000 23,000
OMYuUESH A 38 02 0 3,000 3,000
= 0 3,000 A3,000
BIIE2d= 29,300 17,000 12,300
OMYU=EH ANE SAE
3 3,050,0003 %14 3,050 2,000 1,050
= 3,050 2,000 1,050
OZgussd FH
300,000 #37 .58 11,250 0 11,250
= 11,250 0 11,250
JEHENY 2SS SENT 55,500 72,180 16,680




2A:
X XH -
o e

=aak

SOHXI 2 HIES
ola=x =7
o1& ALSIEG B

>

SN - BE - SRA(SIH) - NIRAY - B2 0] a0t ol & o HimEE]
& 44,250 52,680 28,430
= 11,250 19,500 28,250
101 Q124H| 30,000 30,180 A180
= 30,000 30,180 A180
03 SR (RIHL) 22X ES 300 480 A180
OMYHEH &g
Z& 30,0003 +10H 300 480 A180
L= 300 480 A180
301 LEBEF 22,500 39,000 A 16,500
= 11,250 19,500 28,250
= 11,250 19,500 8,250
02 ASI2EHE S (FHUAHNS, NLTHA) 22,500 39,000 216,500
OFALEUY PRES N2
33 2,250,000&*10H 22,500 39,000 216,500
T 11,250 19,500 A8,250
= 11,250 19,500 28,250
220tE - U238tE X 1,298,825 1,278,270 20,555
= 419,897 405,509 14,388
| 227,597 227,597 0
= 134,043 132,809 1,234
= 517,288 512,355 4,933
oISsX& 576,996 556,441 20,555
= 403,897 389,509 14,388
= 34,620 33,386 1,234
i 138,479 133,546 4,933
301 LEBEF 360,000 350,000 10,000
= 252,000 245,000 7,000
= 21,600 21,000 600
= 86,400 84,000 2,400
01 MBI EEAG6Z2(2REZTHA) 360,000 350,000 10,000
O0l0l=3 AHlA HEXE2
Z & 90,000,000 1K %42 | 360,000 350,000 10,000
= 252,000 245,000 7,000
= 21,600 21,000 600
ik 86,400 84,000 2,400
307 212t01 & 216,9% 206,441 10,555
= 151,897 144,509 7,388
= 13,020 12,386 634
i 52,079 49,546 2,533
1 A =XAIEE X 216,9% 206,441 10,555
oolEs MHlA 28 XIZ
ZE 54,249,000 1K A %42 | 216,9% 206,441 10,555
= 151,897 144,509 7,388
= 13,020 12,386 634
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=O0HXI 2 HE]
Heg=A sd
220t - UE3HE X2

SN - B SRA(BH) - HPAY - BES 0l Ary ol 8 o tmE==T
| 1] = 52,079 49,548 2,533
NEEEL 7,151,661 6,777,957 373,704
= 2,510,545 2,258,8% 251,689
o 440,000 440,000 0
= 1,506,935 1,428,248 78,687
2 2,6%4, 181 2,650,853 43,328
OLS=TIAILXI 2,390, 1% 2,294,774 9,422
2 991,333 3,622 47,711
= 528,927 505,071 23,8%
2 869,936 846,081 23,855
ERUAS Q1A X 1,556,104 1,516,544 39,560
=2 778,052 758,272 19,780
= 389,026 379,136 9,89
2 389,006 379,136 9,89
307 eI2to0I 1,472,104 1,432,544 39,560
2 736,052 716,272 19,780
= 368,026 38,136 9,89
2 368,026 388,136 9,89
DN EEEEES 1,472,104 1,432,544 39,560
OFofoISEO12I01E X2 263,584 224,024 39,560
2 131,792 112,012 19,780
= 65.,8% 56,006 9,89
2 65,8% 56,006 9,89
SSUHV(ZEDA, HHDAD X2 234,652 178,790 55,862
2 117,326 89,3% 27,931
= 58,663 44,697 13,966
2 58,663 44,698 13,965
307 BI2t0I A 234,652 178,790 55,862
2 117,326 89,3% 27,931
= 58,663 44,697 13,966
2 58,663 44,698 13,965
10 AIBIZ XA Y E 22X 234,652 178,790 55,862
SEDAHELSHLDA Z8) X2
A 46,990, 4002504 234,652 178,790 55,862
2 117,326 89,3% 27,931
= 58,663 44,697 13,966
2 58,663 44,698 13,965
SOIXAHE X2 1,852,547 1,887,647 235,100
o 440,000 440,000 0
2 1,412,547 1,447,647 35,100
SOIAME 2% 22| 293,914 36,214 32,300
201 Lete | 291,214 316,214 25,000
2224 147,260 172,260 25,000
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=O0HXI 2 HE]
o= 58
FOtKIEME X

S - BE - B9I(3H) - NRAY - BES il v ol H o CImE=E
OFSPIeE=) & 17,300,000& 404 A 69,200 79,200 10,000
(OB ESNE=3=1

2 & 950,000 5 A+ 123 57,000 72,000 A 15,000
405 XHAHE SHI 2,700 10,000 7,300
01 ML =S FSHI 2,700 10,000 A7,300
O=OINALEH SZFSHI
Z&E 900,000 3 #3042 2,700 10,000 A7,300
A2EM2 23 41,693 44,493 22,800
201 22 5,800 8,600 22,800
01 AFS2t2ltl 2,000 3,000 1,000
O AM2el ABF
Z& 1,400,000 100 2 1,400 2,400 1,000
02 Z324l 3,800 5,600 21,800
O 2= Z2& 200,000 *1JH 2 200 2,000 1,800
S3MERCE 2 1,516,940 1,516,940 0
CH 440,000 440,000 0
= 1,076,940 1,076,940 0
307 212t01 & 1,200,040 1,110,040 90,000
CH 130,000 40,000 90,000
i 1,070,040 1,070,040 0
05 QIR”IAE S 1,200,040 1,110,040 90,000
OAI2 L AlMOF S K
Z & 130,000,000 14! 130,000 40,000 90,000
CH 130,000 40,000 90,000
401 AIEHIZL 28I 250,000 250,000 0
CH 250,000 250,000 0
01 AIZHI 250,000 250,000 0
OSOLNALEH AlE HESAL
ZE 47,500,0003 #4042~ 190,000 250,000 260,000
CH 190,000 250,000 260,000
OSOIKIRMYE =X22)
30,000,000 10K 2~ 30,000 30,000
CH 30,000 30,000
OSFOIXIJAMEH (N 0lA) =0I6 &X
30,000,000 #1042~ 30,000 0 30,000
CH 30,000 0 30,000
405 XHAHE SHI 60,000 150,000 290,000
CH 60,000 150,000 290,000
01 AL = SF = 60,000 150,000 290,000
OSOIXIJAHE KtotF S|
Z & 60,000,000& %14 60,000 150,000 A90,000
CH 60,000 150,000 290,000
E=AI4 Ot XA 2,908,918 2,595,536 313,382
= 1,519,212 1,315,234 203,978
L= 978,008 923,177 54,831
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=O0HXI 2 HE]
o= 58
EFAI4 Ols K&

S - BE - B9I(3H) - NRAY - BES il v ol H o CImE=E
= 411,698 357,125 54,573
HEeEs+4 N 23,400 22,520 880
= 15,210 14,638 572
= 4,095 3,941 154
i 4,095 3,941 154
301 LetEEZ 23,400 22,520 880
= 15,210 14,638 572
L= 4,095 3,941 154
i 4,095 3,941 154
01 AISI 263 (S REXTHE) 23,400 22,520 880
oIFYsLL N
Z& 100,0002 128 +19.5H 23,400 22,520 880
= 15,210 14,638 572
= 4,09 3,941 154
i 4,095 3,941 154
IRIEE=2 XA 1,147,726 834,794 312,932
= 746,022 542,616 203,406
L= 200,852 146,089 54,763
= 200,852 146,089 54,763
301 LEIEBE S 1,147,726 834,794 312,932
= 746,022 542,616 203,406
= 200,852 146,089 54,763
= 200,852 146,089 54,763
01 ASIEEHGIZ2(2REXZTHRA) 1,147,726 834,794 312,932
ogorEsz X
28 95,643,833+ 128 1,147,726 834,794 312,932
= 746,022 542,616 203,406
= 200,852 146,089 54,763
= 200,852 146,089 54,763
o2loly stEdl=g A 3,350 3,780 2430
= 670 756 AB6
ik 2,680 3,024 A344
301 LEt2E S 3,350 3,780 2430
= 670 756 N8B
= 2,680 3,024 A344
02 AISIEZEGIZ(FHAAS, RLTHR) 3,350 3,780 AN430
oo0lglold gst=tlz K&
Z2E 134,0002«25H 3,350 3,780 A430
= 670 756 AB6
s 2,680 3,024 A344
MHRPES(SOHXIAHH) 410,738 53,080 357,658
SEXE 410,738 53,080 357,658
2X3 gt 410,738 53,080 357,658
802 B3 JIEL 410,738 53,080 357,658
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2A:

=O0HXI 2 ME]

HHM: YRS (SOHXYHAH)
thel: B8XE EER=E)
A -3 - A4A(3H) - MRAY - BES Ofl &roH J| M oA Hpnsz
020244 CH2EIIERXFMS(SRHA) SHIE
X2 0| KperayoH 85,8202 % 14! 86 86
OAv4d JIEME! 2¢(2D) THIEXZ &
B4 KHoH 4,039,450 * 14! 4,040 4,040
©20248 JIEHME 29 (2D) THIBXZ 0
KgAK oH 349, 5702 14! 350 350
020242 ZESOLISH 2GXAIY THI
BX2 EsH X 2,943, 5002 14l 2,944 2,944
02248 ZESO0HMsH 29 XRAIY SHI
BXZ Q| KreragoH 138,000 * 14! 139 139
©202448 CIR3IEXK(ELSH)(2D) ZHl
BX3 ElsHRIoH 783, 15024 % 14! 789 789
©2024 CI2FIEIK(ELE)(2D) ZHl
BXZ 0| AHeagoH 46,400 x 14l a7 47
©2024 OLOIS 20| MPMA KI2ALR! Zi&H
&hoH 127,200 & * 1Al 128 128
©2024 4 OI0IS 20| MRMAS KA Ol Xt
S A4 OH 200 %14 1 1
O©204H HAS SHEQIIE MEIOHY XA}
o TIEH AR 2,096,0002 14l 2,09 2,00
020248 HAES SILPIIE MEOLE XAt
o O] KF2tAH oK 19, 1602 1Al 20 20
O2P4H BIEDIIE OIS ASH| NRAIY &
HEX2 &lsxroH 3,603, 1002 14! 3,604 3,604
O2004d JIELRAT XA SHIBXZ
O KHeAH oH 18,900 * 14! 19 19
O20248 MUHE XNE2Y THIEEZ2 &
ZtoH gl Q| K} Hhet 6,691,450 * 14! 6,692 6,692
O20048 OlERRSSKRAIY THIEX2
ZIHRtOH 9l O|XpEH
12,922,950 * 1Al 12,923 12,923
©2004 A MUHMIE] SAK HRME ZHIBX
3 TEAM Bt L O
155,000 * 14! 155 155
0202448 S2IUE B2 A (HEI0IE
S2IIEH| XIY) TEHEAM QO Kp Ay oH
20,434,250 * 14! 20,435 20,435
O20248 S2IUE B2 KAAI(GH o
0l1E SRIE=s2 AW U O Kpgrayol
7,382,810+ 14! 7,383 7,383
O20049 T KXl BESAIY X2 &S Rro
8,164, 1902 14! 8,165 8,165
©20248 & KAl BRAIY XIR 0| KHeAoH
180,550 % 14! 181 181
©20248 JIE YA XRAIY THIBXZ
Z| 8H XtoH 2,746,570 1Al 2,747 2,747
O2004d BEnX2 01AHH| NAAY SHIE
X2 0| KperayoH 1,146, 3402 1Al 1,147 1,147
020248 BRNEY CIAHH| XA SHIE
3 YAt 11,006,820 2 * 14! 11,007 11,007




2A: FOtKI2HH
HH: WRES(SOMXIAHEH)

& BEEXE (CH9: &S1)
SA - B BR(S) - HRAY - BAS o v o H o HmS2
020248 2250 XA ZHIEXE=
&l 412,920 *14] 413 0 413
020245 2220 XFAYE SHIEXES Ok
EpLbk 186,820 *14] 187 0 187
020244 CHEtHSSAY SHIEEZE Z-E
o & Ol Arety 7,420,510 14! 7,421 0 7,421
©20244 0{glolE 2EX& SHIEES 0IXk
SIZULL 9,800& 14! 10 0 10
02244 AROIEEZ KA THIEZZ &
ZhoH 64,000 *14] 64 0 &4
020244 SROIBEZ K& THIEZZ 0IXt
2hayol 738, 1402 +14] 739 0 739
HY 2L ZHI(FOAIZHEH) 319,139 337,943 118,804
= 74,249 73,176 1,073
< 16,530 16,315 215
= 228,360 248,452 £20,092
AR A (SOLRIYHE) 275,623 278,427 12,804
= 74,249 73,176 1,073
[ 16,530 16,315 215
= 184,844 183,936 24,092
MHIE XE29(e248]) 148,498 146,352 2,146
= 74,249 73,176 1,073
& 14,850 14,635 215
= 59,399 58,541 858
101 Q124H| 148,498 146,352 2,146
= 74,249 73,176 1,073
< 14,850 14,635 215
= 59,399 58,541 858
03 SRA(RIH) 222+ 148,498 146,352 2,146
OFAMEA & 20
ZE 2,838, 7083 4Hx 128 136,258 134,112 2,146
= 68,129 67,056 1,073
< 13,626 13,411 215
= 54,503 53,645 858
QA2 HH|(SOIXIRAAH) 45,171 50,121 24,950
101 Q124H| 45,171 50,121 24,950
01 2= 29,397 33,414 24,017
o=z
A 11,95020%20. 512+ 10K 123 29,397 33,414 24,017
02 JIet& 2= 15,774 16,707 933
OAIIH =224
& 11,950327 5A|12H+4H« 128 15,774 16,707 /933
JI2ZHI(SOtXIJAHE) 43,516 59,516 16,000
QI HH|(SOIXIRAAH) 43,516 59,516 16,000
202 04| 5,900 21,900 16,000




2A:

=O0HXI 2 HE]

E: HHSAAH| (KON MIE)
Eel: JI=2ZHI(SOXIYHEH) (S &)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HnsZ
01 AL 5,900 21,900 16,000
©Jl=0Hl Z& 5,900,000 *14 5,900 21,900 216,000




